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Answer the following questions P AGY A e cui

1- Choose (A) or (B), then give an example: | @3 (o) of (1) o dudt di S350 -

(A) Mineral that usually encountered along +¥le 480
fault plane. Is e cupia Guss (1)
.Sal s giwe

(B) Period dominated with true angiosperms. A

L B

2- Choose (A) or (B), then answer the question: | (&) oi (1) ot 5mud ! i o5l =¥
What would happen to ..... sl @d

(A) Rolling of pebbles in current direction ¥oos i Gctowy (3Le

on the bottom of river. A iaastfobia ghau (1)

.GLQ.”J@ QW' 5’3}6‘3‘ t‘é

o 398 (pe JleaWiad; (0)
.3l=a Lo

(B) A load suddenly removed from above
a rock.
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3- Choose (A) or (B), then interpret: 10 () 91 (1) Vgt Ayt Y
(A) Stability of biological balance in the | Pl
Scosvstti P o> erdt Oyl Sl (1)
y ' .g.i,.@‘ allad
(B) Occurrence of decomposers affects the | attmeticlisistiags,y (o)
abundance of nutrients. Obiaal15,8g e M55
4- Replace the statement with suitable sicuulial! ol plbaadlly 5 )Liadl Jubial - &

scientific term:
Layers of salt deposits, which characterize
the arid dry climate found now at the base
of sedimentary succession in North Europe.

8jmeen dmle cewly) (e Clads
ol G i g3 S8 Bl Lt
g 39T Jlads (8 s guu p il Lzt

5- Explain the importance of organic JAgilaal! Bukew ) dred| g -0
fertilizers.
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6- Choose the correct answer:

vascular plants living in fresh water can
tolerate pressure that reaches...

®
®
©
@

11 times atmospheric pressure
2 times atmospheric pressure
10 times atmospheric pressure

4 times atmospheric pressure

7- Read this statement carefully and
answer the questions:

“Rock used by Paleolithic man to make spears”

1%t : Mention the name of this rock
2" : Classify this rock and indicate its class.

s dovoal) Wl NIy -1
B e I il gt LAY
el poedadiad doliall olcat
..... o Juas ok

sl @3 Aalias 3Lt old | 80 -V
aad | Gl | deciw! y 3o
NTIPEN (P PPy JP-FEPR |
>l s mw! (1) 2S5
wall s s (©)

8- Compare between Hematite and pyrite
in terms of color and streak.

Cat 9 G kgl 0 1313 -A
coudnal = Gl Co (o

Hematite / coilog!!

pyrite / co ndi

color

ol

streak
Ol

[4]
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9- Study the figure, and answer the | @ Elalal (Ot S uyal -4
questions: . Ly i |
ol s (s sise = = |
Sea level C B i A

1*: Mention the marine area where spit occurs. | Ladi 1 dataiell ,S3: ¥y

2™ : Depth range of area (B). _ AV Lgd
3" : Mention the deposits of area ( C). (2) dalaiell Gee : Laly

| (.q-) m‘g‘w‘jjﬁlﬂ I.lﬂ:a
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10- Choose (A) or (B) and answer the
question:

What would happen if ....

(A) Shale subjected to high pressure and
low temperature.
(B) Kerogen get heated to 480 °C.

11- Choose the correct answer
Desert environment is characterized by
except:

Very hot during day and cold during night.
Very hot during day and night.

Abundant storms and bright light

Arid and dry.

®O06

12-
The agricultural soil is a product of
chemical weathering of Igneous and
Metamorphic rocks.

Discuss:

() 91 (1) oV uadt s yisnt =Y

§ e e Qodona 1300

dardal Jalall yovio (v pa3 (1)
Aina3ie Byl pom g iy

A G (g ST (e ()

t Aowoual| Al ) -\
Lo JS0 A gl pomal | At HlaS

S sg g g 5yedtinas (1)
®,
@
®

1l et Jle -\ Y
GRS ORI T
.MM'}E&)LUUM@M'

OAd g 1Hlga 3yl pmd 1 B
gl bidg awlgal! s S

(dl.a:q.“) slall B yusg il

[6]
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13- What would happen when rounded 1ole A0 St FLd Lo -\ Y
pebbles more than 2mm in diameter 11 5 esiaeadl el SCaled
get cemented together? G

§ yiadlle ¥ e LgiligSe ylad s

14- Replace the statement with a suitable | zllaaetly 3l Jadiw! -\ ¢
scientific term:  Cewlia ! alalf
The imaginary line passing through the | _ ) y )
A)}LOMJS).Q.)).Q:'L‘;.\J“;M}“M'
center of crystal that when the crystal | ™" =~ ] .
rotate about it, the face or edge repeat AalS BygaBoshell Al g Cols g1 dhaony

itself twice or more. Ltg) gl g pon gl damgl 3l 5 Sk
81 g 5 50 35101

15- What is meant by porosity? . = dgaiaell b -\ 0
93al) daluns
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16- Choose (A) or (B), then compare (@) 9 (1) ot gt i i -\
between: ro i @3
(A) Sial and Sima in terms of type of rock 1o (1B
and composition. Loscw | yg3nin g Jewt! yg3nia (1)
(B) Volcanic and tectonic earthquakes. oSyl - puallp g Coon [y
+A 9SS J5¥ 59 &GI8 5 J5Y) (@)
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17- Study the figure and answer the question: | :coi @ lolal (i JSAN Guyat -\V

15t : Determine the structures found in the | oS! =31 glg—31 s ¥ o

figure. ' LISl B g gl
2Md: Tell which one is the youngest? | § Erunl Lagal :Lols

2
18- What is the importance of: 1 1(v0 JS Asedi Lo -\ A
1** : Synthetic fibers. - Sie Ll | ALY £ ¥ ]
2" : Humus. | S JLgutl :Lols
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19- Choose (A) or (B) and answer the question: | : @3 () of (1) o dudt dni x251 =14
Replace the statement with suitable llaaatly 3 )at) Juciu
scientific term. - iad) (alatt
(A) Using the environmental resources | acecdt slgeatt alsiwi (1)

wisely. a3kl O g
(B) Period when day animal activities are | oo dolis Led Jas 5,58 (o)
reduced gradually and get back to their 5 e 5 8 gy gyl

homes. Lt DL 113953
20- Choose the correct answer: s Aol Al W) S5 Y,
All of the following features indicate e Ju3 yallaall (pe b Lo v
differential erosion except: | 1 Lo (poLiiell it g
@)  Coastal caves Alaiciiad (7))
(b)  Canyons NNEN @)
(©)  Stalactite daisell (D)
(@  Mushroom cedoliaet! @
21- Justify: s Jle =Y
Similarity of geological structures of the | o lal o o¥ gt f slidt aslis
southern continents. Al | s adant

r19/0-1A Joll joaJl - A =alpoll Aulhhl) A A i



YoNA/Y0 A ol pt plall - Jg¥1 5901 - (g 3oy 31 AR ) At glall g Leom oF gom?t - ol g 301 el 5ol ALEN 33 (Lol

22- What do cause the continuous, slow, | 3 FE-:[[F TPV (JU JU U PR

hardly sensed movement of tectonic | aitay de pu @iy 48 > dud ¥

() - .
plates? Ay gl

23- Which mineral can be described by the | dzuad i Husetl @l bo =YV

following statements? , L OLLEY Y ol Lt

1*t : Native mineral with basal cleavage. | .gucldaluaiil g3 g puaic Guna ¥l

2" : Carbonate mineral with true green | 0s 43 o=iligs »S Ouae = LOBS
color. ' el piiai]
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24- Give short notes on water table 1O B pualine 300 S =Y E

(of ground water). 6 s ) i y ¥ olealdl o gruico

(3,30 oL
25- Choose (A) or (B), and discuss: (@) 91 (1) oot di 20 -YO
(A) Abnormal expansion of water and its il @3
importance to marine organisms. dicanly sloll SLASI ettt (1)
(B) Annual plants is not true desert plants. o) sl DU
Crased At gl GLSLGT ()
PAddo By gl pomis DLLO
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26- Study the figure and answer the questions: | sl @ Elolel G JSEN yupal - YT
0

1%t:What is the structure 1 ? | §()) S, Lo :;’31

27 Justify you choice? i ﬁ)lﬂ;’y S Lyb
3" :What is the structure 27? s uu
T N § (*) e, Lo ¢ ‘*‘b
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27- Compare between Komatite and
rhyolite in terms of mineralogical
composition and rock classification.

Cod gl o319 Celila s oot (98 =YYV
&0 uaelt CuS p U S (0
all adual

Komatite /

PO

=

Lo oS

rhyolite / ccd g1 31

mineralogical
composition

eS|
JEREE P8

rock
classification

- x‘ .". -
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28- Choose (A) or (B), then answer the question:
Replace statement with suitable scientific term:

(A) Elongated sand dunes extend in the
dominant wind direction.

(B) Water bodies got separated from the

main sea by the growing coral reef.

1@ (1) 1 (1) ot gt i 31 - YA
bl alal! ellaaally 5 ylialt Joblia!

O3S ISt adaine ko) LS (1)
il 7L 1 olonil ga Lgalonil

S (g i Biile plua ()
A0l pel ladd! 3 A

29- Choose the correct answer:

The chemical composition of gypsum is ......
Anhydrous calcium sulfate.
Hydrous calcium sulfate.

Calcium bicarbonate.

©e 6

Calcium carbonate.

@

30- What would happen if .....
Looking at mineral opal from different

angles.

: Aoviuall Al W1 i) - Y4
cene 198 puendl (Alie sl coS |
JAdile S A e IS s 1S @

JASled g ISH Sl 48 @

A9 IS O g S @
A gl IST Gl g ,S @

e S 130e =Y

e (yo JLig¥l Hiae Sy taut
Aalise Lilg)
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s @D AGY 3 ylatt 1,81 -1

31- Read the statement and answer the
Jdt (gl dalaie ‘:,A O gley

question:
“Economic deposits appeared in Nile A )
valley and Abu tartur” a8l el s9la e 92l
Syl oin o Lo Q)

1** : What are these deposits?
2" - What are the environmental condition

that cause the deposition?

Sl i At g pat il (o)
Sorwlgpttons (eSS S|

32- Mention what Marcalli scale is used for. | ;ulde pdsiug Lo® 2S5 -¥Y

1S e
33- Justify: 1 L Yo -YY
Rocks on the fault plain could suffer from | z3lat seicie Lo ygscnll
Jgmll (4o pals uB

metamorphism.
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34- Choose (A) or (B), then Compare: (@) 91 (1) o gud) dsf jinl =¥ €
100 (L8 @2
Pl e g elaialt e 31 (1)
Slelg alaattdl il oluwd ()
(6 a1 358 g a1 5l

(A) Organized grazing and overgrazing.

(B) Causes of mineral and fossil fuel
depletion.

35- (Herbivorous in the marine ecosystem are | altail o ol &MST caling, -¥o
different from the herbivorous in Desert | _zaticMsi ;e EEW (]
ecosystems). Explain this statements. (gl piall i) pLiaid 2

Bylatt odd mis g
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36- Justify: b Let e =Y
Coastal areas are characterized by more | yf,&iw¥h s lud! Gholial! jliad
thermal stability than continental areas. agylatt Gbliadl e (5 )l !
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37- Choose (A) or (B), then answer the question:
Replace the statement with a suitable scientific term:
(A) Big Fractures and faulting and severe
folding that deform Earth’s crust.
(B) Era witnessed the formation of Earth
and its lithosphere, hydrosphere and
atmosphere.

103 (9) 91 (1) Gt 3uad i 231 -YY
cualial gl llaaaly 3yl i
dasial Ole ity olaa &t (1)
0453 ) Adiiall Silelg I ¥ g
RS (F3%-~1 [BPE
Lgalé gy ¥ 5L g i ()
-Aledlg g gtly G rduall

38- Choose (A) or (B), then answer the question:
choose the correct answer:

(A) Mineral Topaz scratch all the following
minerals except:

@) Gypsum.
(b Calcite.
(© Corundum.
(@ Fluorite.

(B) Native mineral has a nonmetallic

luster:
@) Gold.
(b) Diamond.
@ Galena.
(A  Quartz.

1@ (@) 9f (1) o guadt i f y23n1 YA
t doouall dala W e

e 3Lt Oune s (1)
oo T Lo ALY (yalast!

Pyl yesT! @
-Ca ) glat @
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39- Choose (A) or (B), then interpret: 10 (@) 91 (1) o 3aadt i 2501 Y4
(A) The important role of the outer core of | . . "'“:3
the Earth. ot il padlas 1 (1)
.Sﬁ%s'w'wubng?)w‘
(B) The axial plane ofthe foldusually includes | w¥ adalt g )gmalt s giuualt (o)
all axes of folded successive beds. 1 yglomadl e Jadis O
G glad Leutie Oladalf Lgioil
40- What would happen when? Seee e Srdsmy I3Le - ¢
Growing plant stem is exposed to equal eSS omols Sl Bl o pa3
amounts of light from all direction. cdila 1 5 guall (e Ao glucie

41- Mention the importance of forest trees | ;2 OLiLat ylouii diaai 31 - €Y
in industry. A lual
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42- Choose the correct answer: | i dsvewal) Al S - ¢ Y
A crystallographic system with three LA e gt (et aLLait
unequal axes, a=g#p, Bis>or<90°, | Jadall (B dalise dyely jyloa

| e 9879 (0 yaial g 581 B dugljllg

(@)  Orthorhombic. @it peaatt - (D)

(b)  Tetragonal. | el (@

(©  Monoclinic. ' deadl ol D

@ Triclinic. . PR TPV @

43- Study the figure and answer the question: | @ Elalel (AN KAL) (gupaf -EY

Y|
1** : What does this figure represent? | §USET) s Jian 1aLe -
2" What happens in the liquid upper | atludiaadalt dios fale —¥
mantel? | Splastl (e salall s it
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44- What is meant by.....? e Aguaiell Lo £ ¢
1%t : Environment SLeele Al : Yyl
gnd . Ecology ‘:,.‘«:”g.«J!gLB.m s Lals

3o 90 9Sa Y1 pltait)

45- Differentiate between residual and PUR (PY WP (1 PR (R SO R Y

transported soils in terms of their ) i (ya A gLl
textures.
residual soil /a4t a5 transported soil / 43 saied! 2 231
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